Manufacturing #55432
www.curtmfg.com

T-Connector wiringkit
INSTALLATION INSTRUCTIONS

Fits: 2006-07 Chevrolet HHR

Kit Includes
(1) Winng Hamess

with 4-Flat Connector
{1)6" Cable Tie

(1)#10 Self Tapping Screw ©) 2004 Electrical Products Co.

T-Connector Wiring Kit
INSTALLATION INSTRUCTIONS

1. Read instructions thoroughly before beginning.

2,0pen the rear hatch and locate both of the wiring access
side panels located in the cargo area of the vehicle. Carefully
remove the foam insulation liner from each side to access the
mating connectors . Note { There are two sets of taillight
connectors use the top set of connectors to mate with the T-
Connector )

3.Beginning on the drivers side, unplug the taillight
connectors, while being careful not to break the locking tabs.
Inspect the connectors for dirt & debris and clean if necessary.
Plug the T-Connector ends containing the Yellow wire into
the vehicle harness connectors until they lock into place. Take
care not to damage the locking tabs.

4, Locate an appropriate position on the vehicle frame to
attach the White wire containing the ground ring. Drill a3/32"
hole and attach the T-Connectors White wire with the ring
terminal to the vehicle using the #10 screw provided.,
Caution: Do not drill into any exposed surfaces or
through the vehicle body.

5.Pull up the cargo floor panel, and remove the cargo
tray by unscrewing the spare tire retaining nut. Remove the
cargo tray and set aside. Route the T-Connector containing
the green wire behind and under the trim panel, along the
vehicle floor near the spare tire to behind the trim panel to
the wiring connector access area.

6. Repeat step 3 for the passenger side, using the

T-Connector containing the Green wire,

Caution: Make sure to avoid areas that could cut, pinch
or burn the wires when routing the harness across the
vehicle.

7. Confirm correct operation with a test light or by using a
trailer.

8. Replace the foam insulation liners and wiring access

panels , cargo tray, spare tire retaining nut & cargo floor

panel removed during installation.

9. Store 4 flat connector in rear cargo area when notin use.

INSTRUCCIONES DE INSTALACION
Espanol:
1. Lea las instrucciones a fondo antes de comenzar.

1. Lea las instrucciones a fondo antes de comenzar.
2.Abrala portilla posterior y sitlie ambos paneles
laterales del acceso situados en el drea de cargo del
vehiculo.Quite cuidadosamente el trazador de lineas
del aislamiento de la espuma de cada lado para

tener acceso a los conectadores de acoplamiento.
OBSERVE (hay dos sistemas de conectadores de la

luz trasera utiliza el sistema superior de

conectadores para acoplarse con el T-Conectador.)

3. Comenzando por el lado de los conductores, desenchufe
los conectadores de la luz trasera, mientras que teniendo
cuidado de no romper las lengtietas de fijacién. Examine los
conectadores para saber si hay suciedad y ruina y limpie en
caso de necesidad. Tape los extremos del T-Conectador que
contienen el alambre amarillo en los conectadores del arnés
del vehiculo hasta que se traban en lugar. Tome el cuidado
para no danar las lenglietas de fijacion.

4. Localice una posicion apropiada respecto al marco del
vehiculo para unir el alambre blanco que contiene el anillo de
tierra. Perfore un agujero def 3/32'y una el alambre blanco de
los T-Conectadores con el terminal del anillo af vehiculo
usando ef tornillo #10 proporcionado (precaucion: no perfor
en ninguna superficies expuesta o a través del cuerpo del
vehiculo)

5.Levante el panel de piso del cargo, y quite la bandeja del
cargo desatornillando la tuerca de retencion del neumético
de repuesto. Quite fa bandeja del cargo del thr y pongaa a
un lado. Encamine el T-Conectador que contiene el

alambre verde detras def panel de ajuste, a lo largo del piso
del vehiculo cerca del neumatico de repuesto detras del
panel de ajuste al drea del acceso del conectador del
cableado.

6.Repita el paso 3 para el lado del pasajero, usando el
T-Conectador que contiene el alambre verde. {precaucion;
Cercidrese de evitar las areas que podrian cortar, pellizcar
o quemarse los alambres al encaminar el amés a través

del vehiculo,)
7. Confirme la operacion correcta con una luz de la prueba

o usando un acoplado. '
8. Substituya los trazadores de lineas del aislamiento de la

espuma y los paneles de acceso del cableado, bandeja del
cargo, tuerca del neumatico de repuesto y panel de piso de

retencion del cargo quitados durante la instalacion.
9, Almacene el conectador 4-flat en drea de cargo posterior

cuando no en uso.

INSTRUCTIONS D'INSTALLATION

Franqais

1. Lisezles instructions complétement avant de
commencer.
2. Quvrez la trappe arriére et plac tous les deux
panneaux latéraux d'acces situés dans le secteur de
cargaison du véhicule. Enlevez soigneusement le
recouvrement d'isolation de mousse de chaque coté pour
accéder aux connecteurs joignants, NOTEZ (il y a deux
ensembles de connecteurs de feu arriére utilisent l'ensemble
supérieur de connecteurs pour joindre au T-Connecteur,)
3.En commengant du c6té de conducteurs, débranchez les
connecteurs de feu arriére, tout en faisant attention a ne pas
casser les étiquettes de fermeture. Inspectez les connecteurs
pour déceler la saleté et les débris et nettoyez au besoin.
Branchez les extrémités de T-Connecteur contenant le fil
jaune aux connecteurs de harnais de véhicule jusqu'a ce qu'
elles ferment a clef sur 'endroit. Faites attention pour ne pas
endommager les étiquettes de fermeture.
4, Localisez une position appropriée suy I'armature de véhicule
pour attacher le fil blanc contenant I'anneau au sol. Forez un
trou de 3/32"et attachez le fil blanc de T-Connecteurs avec la
borne d'anneau au véhicule 3 l'aide de la vis #10 fournie

¢ (attention : ne forez dans aucune surface exposée ou par

le corps de véhicule.)

5.Tirez vers le haut le panneau de plancher de cargaison, et
enlevez le plateau de cargaison en dévissant 'écrou de
retenue de roue de secours. Enlevez Je plateau de cargaison
de thr et le mettez de c6té. Conduisez le T-Connecteur
contenant le fil vert derriére e panneau d'équilibre, le long
du plancher de véhicule prés de la roue de secours a derriere
le panneau d'équilibre au secteur d'accas de connecteur

de cablage.

6.Répétez |'étape 3 pour le c4té de passager,a laide du
T-Connecteur contenant le fil vert. (attention :Veillez a éviter
les secteurs qui pourraient couper, pincer ou brler les fils en

conduisant le harnais a travers le véhicule.)
7. Confirmez l'opération correcte avec une lumiére d'essai ou

en utilisant un bas de page. o
8,Remplacez les recouvrements disolation de mousse et les

panneaux d'acce2s de cablage, plateau de cargaison, écrou
de roue de secours et panneau de plancher de retenue de
cargaison enlevés pendant linstallation.

9, Stockez fe connecteur 4-flat dans le secteur de cargaison

arriere quand pas en service. 55432-950



